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ASSEMBLY LIMIT...contd

The carrier wheel assémbly shown in Fig,1,20 has a fpecified assembly
requirement, namely the axial freedom of movement of the gear wheel

(with bush) on the stud, g ig . ggpse limits are assembiy limits -

the linits required when the components are assembled Logether in
thelr tiorking condition,
The attainment of assembly linits requires the allocation of
appropriate Limits to the relevant dimensions of the components, and
iimits is as follows

........

Firgt: Identtfy bhe component dimengione tnvolved

A study of Fig.7.2U Shows that the bearing bush Is longer.than the
gear width and projects each side of the gear faces; therefore, it

is the bush (which is-a press fit in the gear) which must be free to
move axially between the stud flange face and the face of the housing,
The relevant component dimensions therefore are bush length and length
of middle diameter of the stud (Fig.1.27).




ASSEMBLY LIMIT...contd

STUD DIMENSION

] BUSH DIMENSION,
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ASSEMBLY LIMIT...contd

Secondly: Ailscate tolerance to-component dimensions

Always, the assembly TOIeFance 1s the amount of Tolerance for the
component ‘dinensions. Share *his tolerance - equally when possible -
between the component dimensions, Thus:®

Assembly tolerance = 0+3, mius 0412 = 0:18 ,

* Bqually divided: Tolerance for stud dimension = 0-08,
Tolerance for bush dimension = 0:09

Thirdly: Witk the tolerance knoun and the nominal size kroun, get
limits for.all component dimensions except one

Decide to set limits for the bush, tae nominal size of “he bush being
30 mm. 3

The b , - . 3009 (maximum)
The bush limits will be set‘aq 30-00 (minimum) *

(The bush limits could equally well be gg:g? = it Ls immaterial.)



ASSEMBLY LIMIT...contd

Fourthly: Deterning linits for remaining. component dimension

(a)

b)

Establish, diagrammatically, the component dimensions condi® fon,
maximum.or minimum, in terms of the assembly conditions of maxi-
mum and minimum.  F4g.1,28 shows that for a maximum axial move-
ment, the stud dimension is maximum and the bush dimension i
minlmum. Conversely, for a minimum axlal movement, the stud
dimenston {a minimym and the bush dimenalon is maximam, .
Choose one of the assembly conditions and determine the limits
for ‘the'stud, thus: .

From Fig.l, 28, .

(1) Stud max s Bush min + O 30 = 30400 + 0430 = 30+30

or
(2) Stud min = Bush'max + 0412 = 30+09 4 0¢12 = 30:2)
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